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181659 g 10 |7.5 |150 |50 0.4 6 0.6 [0.1 |[4 1 |0 1 |VF<0.8V(IF=6mA) 7A
151858 =k 10 |10 |90 |30 0.18 50 1 5 10 0.8 [0 1 7 =20ps 50A

151860 = 3 25 0.5 (0.2 |1 NF<7. 5dB(f=890MHz) A

151992 =k 30 30 |60 (20 0.12 30 1 0.2 |10 0.8 0 T =20ps KR H, H, 7 A

151993 =4 20 20 {100 |30 0.2 50 1 0.2 |10 0.9 0 T=20ps BRR B, H. 18 TA

151994 HE3 30 30 (100 |30 0.9 50 1 0.2 |10 0.9 0 t=20ps RS O, 0.8 1A

151985 HE 20 20 |150 |50 0.3 70 1 0.2 (10 0.9 0 T =20ps BBRR H, H, & 74

152198 HE 5 25 0.5 |80 0.5 NF<10. 5dB(f=890MHz) 4
152203 HE 4 75 100 |4 0.4 XN YN 5T MR ECRE A G 504
182210 B 11 10 {60 |20 0.12 20 1 0.1 |5 1.2 |0 Cc=0.2pF Ls=2uH BIFF & & 878
152211 =K1 33 (30 |100 |35 .2 35 1 0.3 |15 1 0 Ce=0. 2pF Ls=2uH ﬁi? B®x 878
18512 =k 11 10 [150 |50% 50 1 10 |10 0.7 |0 NF=5. 5dB(f=3060MHz) B&K-R 7 598B
18513 [=k: 4.2 |4 |90 |30+ 30 1 10 4 0.35|0 NF=6. 5dB(f=9375MHz) ﬁﬁr #H 5988
18514 = 3.3 13 [15 |[25% 25 1 100 {3 0.35[0.2 Eo>0. 25V (£=10GHz) B&/RN . K 5988
15815 H 3.2 30 |10% 10 1 100 13 0.22]0.2 Eo>0. 2V(1=21GHz) @Fn .18 5988

15516 =) 5 30 30 0.5 (25 [0.5 0.9 |0.2 NF=9. 5dB(f=855Mlz) B kR B 78
15523 2k 12 10 {150 |100#% 50 1 10 10 1.2 [0 T =10ps 538D

15543 Hg 5 {90 |30 10 [0.55 |1 5 0.55/0.8 |5 A

15569 S 4 3 {50 |30 3 0.5 (10 |1 0. 37 0.2 Tss=-55dBm(£=9375MHz) 48

18570 BB 1 3 |90 (30 1 0.5 |1 1 0.35 0.2 NF<TdB(£=9375MHz) 48

18§78 E:: 5 90 |30 15 0.5 |10 0.5 0.4 (0.6 (0.2 NF<9. 5dB(f=855MHz) &R %, K 1A
15586 Hiz 3 30 8 0.5 [50 0.5 0.85(0.5 24C
18587 Hir 3 15 3 0.5 |10 |2 0.85(0.5 24C
18588 Hi 10 15 10 (0.6 (0.2 |2 0.97]0 CATVA 772N $44F, 4fBI4, A VF<10mV, A C<O. 1pF 24C
18590 5 30 45 0.5 |25 |0.5 0.9 [0.2 88D
18597 =k 1 10 35 150 {10  |0.55 [10 |10 1 |0 878
18597(1) =k 10 35 150 {35 1 0.1 |5 1 0 878
15597(2) = 30 35 150 |35 1 0.1 |15 1 0 878
15598 =k 5 50% 150 (10 |0.45 |0.5 |1 1 0 878
15599 =k 5 30% 150 [30 |0.5 [25 [0.5 0.9 |0.2 878
185101 HE 70 15 150 |15 1 0.2 |50 2 |0 87B
155106 Hir 10 30 45 |1 70 |6 1 1.5 |1 7 >T0%(f=40MHz) 24C
155108 B3 30 [100 {15 0.2 3 1 100 |10 1|3 1 7 >T0%(f=40MHz) 24C
155124 = 3 30 10 1 10 3 0.2210.3 |0 Tss=-55dBm(f=10GHz) X~Kun v} ¥4 B&RR 7K 226
155125 H® 22 150 |50 100 |1 10 20 1 0 lo=1. 5mA(f=10GHz, Pi=10mK) 226
185151 = 3 |100 |30 0.2 35 0.5 (50 (0.5 0.9 1.2 [0.5 24C
185154 B 6 30% 1 0.35 0.5 |5 0.8 0 NF<9dB(f=3GHz) Bo>2erg 6101
185156 =k 3.5 |3 |15 |10% 10 1 0.1 |3 0.3 {0 X~Kuh' 7V 709 SRR A, K 226
155165 = 10 15 10 0.6 {10 (10 1.0 {0 CATVN 5721+ 3445, 4{E#, A VF<10mV, A C<0. 1pF 79F
155166 Hir 10 15 10 0.6 |10 10 1.2 [0 AVE<10mY, ACCO. 1pF 79H
1585174 Hir 3 [100 [30 0.2 35 6.5 {50 0.5 (0.9 [1.2 [0.5 79F
185198 Hir 10 30 5 1 70 6 1.5 |1 7 >70% (f=40MHz) 79F
155139 Har 30 15 3 1 100 |10 3 1 7 >70% (f=40MHz) 79F
185228 Hir 3 30 35 0.5 150 0.5 1.1 0.5 791
155237 =k 12 |10 35% 35 1 0.1 |5 0.8 |1.0 |0 NF<12. 5dB(f=855MHz), Bo=2erg 79K
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